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5686
o pIPLOMA EXAMINATION, (C-165)

JU!&E - 2019
DME - IV SEMESTER EXAMINATION

HEAT POWER ENGINEERING
{Total Marks : 80

BOAR

Time : 3 Hours)

PART - A 3x10=30

Instructions (i Amswer ALE questions.

:2: Each question carrics THREE marks.

.

(3i Answer showld be bricf and straight (o the pont.

1 Explain the working principle of reciprocating COMPTEssor.
2 Give the classdlications of pas turbine.

Name different npes of cngines working on the principle of jet
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3
propulsion.
4 Define dress fraction of » vapour with mathematical expression.
5  What arc the requirements of 8 good bailer
6 What is meunt by buoiler dioyght 7
7  Dry saturated steam enlers o Sieam nozzle at a pressure of 15 bar

and discharged at 2 bar. If the stewn at exit is 0 9 dry. find the velocity
of steam at exit.
What js compounding ? Writi differem methods of compounding.

What are the advantages of gdwm turhipe over slteam engine 7

18 Compare between jet condenser and surface condenser.
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Instructions : (1) Answer any
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PART - B
FIVE 4%

qrrics

csfenis
¢ TEN marks
» Iy . .
(2) Each "”“}S"' be (-mrrPr('m'n.ﬂ'rf and criterion for
cr sho - »
(3) A";::;:ﬂ:r' ’# content but not the length of the
vl (A}

answer .
Determine the minimum work requircd 10 COmPpress | ke o air fmm
| bar and 15° C 10 O bar in wo SWECS fhe faw compression 15

pV":5 = constant and inter-cooling is complete. I1. the air \\gs
¢ hetw cen the same pressure himits. what 15

compresscd in onc stag resst
compressing il i hwo slages ?

the percentage saving in work by
Assume R = 0.287 kyhek
Explain the working of principle of rocket engine with a neat sketch.
1 kg of stcam 08 drv oot 10 har abs expands durinmz @ non Now

palytrophic process acconding to the law pV!d = C unul the pressure
Y

becomes T F ba
Fxplan the consiruchon and working of henson Y

(a) In a boler test. steam at a pressure of 14 bar. having a dnyness
fraction 0 € 1o gencrated at the rate of 8 kg per he of coal
burit  The calontic value ol coal fired 15 33000 kjkg and
erperature of feed water s 450C. calculate the thermal
eflivienss of tie boiler,

(b)y Compare the impulse turbine and reaction turbine

Dn saturated steam at a piessare of 8.2 bar abs. enters a comvergent

divergenl nozzie and leaves b ata pressure ol | 4 bvar abs. If the

flow is frictional less adiabatic and the corresponding expaision index
is 1135, 1f the mass {low rale v 003 kg, determune the throat

and oxit diameters

In a ssimple inpulse turbine the noszle debivers 25 kg of steam per
second. The nozzle angle as 157 The steam assue from the nozzle
with & velocry of 90U m s, the steam blade velocity 1s 330 mvs and
the ulet and outlet angles of Mo blades are equal. Neglecting the
fricion. calculate

(a) The blade angles

(by Power developed

Give the classilications of el condensers. Explain any one with a

shotch
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